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A & 0l & AF S & M A
20188 = =3 1 3 LESH AEEFSsH
AN ALdESHD
M SWNBBAMY JIBEL L Ha
Eel: SWEEdY =4 (Sl & &)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
ANEEs=E 0 6,174,598 6,296,848 A 122,250
Xl 260,000 300,000 A 40,000
< 5,899,598 5,996,848 A97,250
= 15,000 0 15,000
SNSEAMY JIBtEd & St 540,000 580,000 A 40,000
Xl 260,000 300,000 240,000
< 280,000 280,000 0
SWegde =4 540,000 580,000 240,000
Xl 260,000 300,000 240,000
< 280,000 280,000 0
Xt s/worg 42X (3H) 460,000 500,000 240,000
Xl 260,000 300,000 A 40,000
< 200,000 200,000 0
306 =43 460,000 500,000 A 40,000
Xl 260,000 300,000 A 40,000
=) 200,000 200,000 0
01 &3 460,000 500,000 A 40,000
OXY s/milg S&EXE(ZEH) 460,000 500,000 A 40,000
X 260,000 300,000 A 40,000
=) 200,000 200,000 0
HE2s =4 A& 1,495,000 1,500,000 A5,000
< 1,480,000 1,500,000 220,000
£ 15,000 0 15,000
stEe HY 1,495,000 1,500,000 A5,000
< 1,480,000 1,500,000 220,000
£ 156,000 0 15,000
g FHUS=EE Oz 115,000 100,000 15,000
< 100,000 100,000 0
£ 15,000 0 15,000
308 MtXIEHMSOIH 115,000 100,000 15,000
< 100,000 100,000 0
= 15,000 0 15,000
08 WSII20HetE = 115,000 100,000 15,000
O nstEA=T A HA 115,000 100,000 15,000
=) 100,000 100,000 0
£ 15,000 0 15,000
ESHARMNLNIAS NAS (AT X)) 180,000 200,000 A20,000
306 2= 180,000 200,000 A20,000
01 &= 180,000 200,000 A20,000
OSEdMLXNE XE(SETP) 180,000 200,000 A 20,000
tNEEs"E 2= sHdIE 3,698,750 3,776,000 ATT,250
Atsrol 2 BIYI|IY 3 WESRZA 5 24 3,698,750 3,776,000 ANTT,250
AEH 0l 3 JlsIHE MY (SHEXH) 1,662,250 1,630,000 32,250
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